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Aufgabe 1

Vervollständige die Tabelle.

Z E Zahl als Wort

5 3

sechsundzwanzig

einundsechzig

4 0

9 2

sechsundneunzig

3 2

zehn

7 2

0 4

Aufgabe 2

Vervollständige die Tabelle.

H Z E Zahl als Wort

sechshundertzweiundfünfzig

einhundertdrei

einhundertdreiÿig

sechshundertelf

neunhundertneun

1 1 1

zweihundertzweiundsiebzig

sechshundertsechsundneunzig

sechshundertsiebenundzwanzig

sechshundertein
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Aufgabe 3

Vervollständige die Tabelle.

Z E Zahl als Wort

zweiundsiebzig

einunddreiÿig

8 7

siebenundfünfzig

0 3

2 2

zweiundneunzig

3 7

fünfzehn

siebenundsechzig

Aufgabe 4

Vervollständige die Tabelle.

H Z E Zahl als Wort

achthundertvierzig

8 7 6

sechzehn

6 8 8

einhundertzweiundneunzig

dreihundertvierunddreiÿig

0 7 6

3 9 1

dreihundertneunundneunzig

1 4 4

Viel Erfolg!
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